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The arc length of the sector of a circle is 5 cm.
The
Find the angle at the centre of the circle.

Fsavemyexams





image7.png
‘The diagram below shows the sector of a circle, 0PQ, radius 6 cm and centre angle 72

radians.
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(a) Use the formula ; ab sin  to find the area of the triangle OPQ.

(b) Find the area of the sector OPQ.

() Hence or otherwise find the area of the shaded segment.
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‘The diagram below shows the sector of a circle, 0PQ, radius 6 cm and centre angle 72

radians.
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(a) Use the formula ; ab sin  to find the area of the triangle OPQ.

(b) Find the area of the sector OPQ.

() Hence or otherwise find the area of the shaded segment.
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‘The diagram below shows the sector of a circle, 0PQ, radius 6 cm and centre angle 72

radians. Area of shaded frea of seckor — pea o tnangle
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(a) Use the formula } ab sin  to find the area of the triangle OPQ.
18 sin 12 E - 37 12 s r\‘flL
= = 2
(b) Find the area of the sector 0PQ. use exack "W =
3n 0 averd rwmdng N
z s e =l 00536em*  (3sF)
(c) Hence or otherwise find the area of the shaded segment.
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The area of a sector is 8 cm?.
The arc length of the sector is 47 cm.
Find the radius and the angle at the centre of the circle.
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Without using a calculator, write down:
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Asector of a circle, 0PQ, is such that it has radius 4 cm and the angle at its centre, 0, is

2 radians. ¢ N

() Find the length of the arc PQ.

(i) Find the area of the sector OPQ. e
4 o
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‘The sector of a circle is shown below.
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Find the perimeter of the sector.
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The area of a quarter circle is 18 cm?,
Find the radius of the circle.
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Find all the solutions to the equation 2sin§ = V3 for =27 < § < 2. 23in6 = 3 ) 2
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